R &= B X

— LS
HRK n-l-
ERL28EIA3IHIRE (Bfr: A
7l B LEE BIEE 1B
I BEEDE
1. RENEE
HE&ES 109,464 577,840 A 468,376
FILAE 13,574 23,500 A 9926
REVEESET (A 123,038 601,340 A 478,302
2. EEEE
(1)EKEBFE
EHTESE 57,000,000 57,000,000 0
HKXBEIESE B) 57,000,000 57,000,000 0
QFDHDEEEE
LTEHEE 6,364,785 8,064,785 A 1,700,000
EHTESE 30,000,000 30,000,000 0
ZTDMDEEEESE (C) 36,364,785 38,064,785 A 1,700,000
BEEESET (D)=(B)+(C) 93,364,785 95,064,785 A 1,700,000
BESET (E)=(A)+D) 93,487,823 95,666,125 A 2178302
I &EDH
1. REaE
RiLE 156,760 170,186 A 13426
REBAEESET P 156,760 170,186 A 13426
2 ExEaE
=t = a(¢)) 0 0 0
BESET H=(F+G) 156,760 170,186 A 13426
Il IERRBAEEDER
1. I8 EIERRELE
IEEIEREAESET D=(B) 57,000,000 57,000,000 0
OBERME~ADFTLZE) (57,000,000) (57,000,000) (0)
OB TEEE~DIEHE) (0) (0) (0)
2. —fRIEBREAE (J)=(E)-(H)-(D) 36,331,063 38,495,939 A 2164876
ERBESTT K=0D+HJ) 93,331,063 95,495,939 A 2164876
BERVIEKRMESE L=(HHK) 93,487,823 95,666,125 A 2,178,302




B x B X

Rl
k283 A31 BIRTE (Bfz: M)
Bl = LEE BIEEE p=piA
I BEDH
1. REBNEE
REHES 2,078,888 3,213,511 A 1134623
KIRAE 267,957 335,170 A 67213
RBEESET A 2,346,845 3,548,681 A 1,201,836
2. BIEERE
(M ZDhEEEE
TOMEEEESEET B) 0 0 0
BIEEESE (C)=B) 0 0 0
BESF (D)=(A)+(0C) 2,346,845 3,548,681 A 1201836
I BEDOH
1. REBAE
*iLE 7,260,785 5,859,082 1,401,703
KIHERE 38,800 551,600 A 512,800
KIEANTRE 72,000 72,000 0
EYE 179,801 189,061 A 9260
RBBESE B 7,551,386 6,671,743 879,643
BEEE F=E) 7,551,386 6,671,743 879,643
I IEBRBAEEDER
1. 5 EIERKEL
IEEIEKRBESET (G) 0 0 0
OLERME~DT LR (0) (0) (0)
OLHFEEE~NDTHER) (0) (0) (0)
2. —{RIEBRBAE (H)=(D)-(F)-(G) A 5204541 A 3,123,062 A 2,081,479
EREAESET (D=(G)+H) A 5204541 A 3,123,062 A 2,081,479
BERVIERIESE (W=(F)+1) 2,346,845 3,548,681 A 1,201,836




REdREXRBER

ERL28EIA3IHIRE (Bfr: A
7l B — RS ET Al & &t
I BEDE
1. RENEE
RE&ES 109,464 2,078,888 2,188,352
KIRAE 13,5674 267,957 281,531
REIEESET (A 123,038 2,346,845 2,469,883
2. EEEE
(1)EKEBFE
EHTESE 57,000,000 0 57,000,000
HKXBEIESE B) 57,000,000 0 57,000,000
QFDHDEEEE
LTEEE 6,364,785 0 6,364,785
EHTESE 30,000,000 0 30,000,000
ZTDMDEEEESE (C) 36,364,785 0 36,364,785
BEEEEESET (D)=(B)+(C) 93,364,785 0 93,364,785
BESE (E)=(A)+D) 93,487,823 2,346,845 95,834,668
I &EDH
1. REaE
RiLE 156,760 7,260,785 7,417,545
KIHEMRE 0 38,800 38,800
KIEANTRE 0 72,000 72,000
Dl 0 179,801 179,801
REIBESET P 156,760 7,551,386 7,708,146
2 ExEaE
=t = a(¢)) 0 0 0
BEAET H=(F+G) 156,760 7,551,386 7,708,146
Il IEBREAEEDER
1. I8 EIERREL
IEEERMESET O© 57,000,000 0 57,000,000
OBERME~DFTLZE) (57,000,000) (0) (57,000,000)
OB TEEE~NDFT L) (0) (0) (0)
2. —fRIEBREAE (J)=(E)-(H)-(D) 36,331,063 A 5204541 31,126,522
ERBIESET K=(D+J) 93,331,063 A 5204541 88,126,522
BERVEKRMESS LW=H)+K) 93,487,823 2,346,845 95,834,668




